FYRIIVRA KAB-F13-150(EE)

FBR s=1/20 BEE -1 /20 T s=1/3 43 s=1/3
40
82000 _ 2000 _ 82000 AR 08.4 )
| AR j = F )
e — = Ui ~ o K
=t > ! >t X =t X >t - =t X - * ! - > 2 o A ﬂ N ~
| | 3 | j R v
e = ‘ ‘ )
L nﬂmmt /Afzvo i = j 15 5 S
71
04 2
’ <
] o
e ol ol ol N - L L
REMEN s= -+ —HERBEME s=1/5
(83.2X50mm) | 3 ¥ 3 _ S=1/3 & =1/
SO X XXX ’ v k MBX60
! 3 i
& \
< <
G999, ) 0099020209990 9:9: 9920999 9o92 09991 29292924 { 55
GL il vl GLAN— —
SR SR = o | PR
I g 3
Iy
o0
180 180 ok
FRRBEME s=1/6 FHERRAME s=1/6 9X1284
M8X105 MBX60 .
@M E ERETE s=1/5
%l t MBX30
1l | i i ~ %g/-_
~L i3 s=1/6 e
N 3
v o 4075 %{ | @06
BEEFE s=1/6 20 36 007 X
MBX 16 ‘ 20/ 36, 19 X7
< | , IR \ O
fn %@. & St adl (No—=2 el _
| | P91, 1 -

KAB—F13-150



AutoCAD SHX Text
 4

AutoCAD SHX Text
%%u正面図 

AutoCAD SHX Text
%%uS=1/20

AutoCAD SHX Text
%%u側面図 

AutoCAD SHX Text
%%uS=1/20

AutoCAD SHX Text
ひし形金網 ( 3.2X50mm)

AutoCAD SHX Text
GL

AutoCAD SHX Text
胴縁の爪ヒ ッチ200

AutoCAD SHX Text
GL

AutoCAD SHX Text
KAB型鋼

AutoCAD SHX Text
有刺鉄線

AutoCAD SHX Text
%%U胴縁継手部 

AutoCAD SHX Text
%%US=1/6

AutoCAD SHX Text
%%U胴縁  

AutoCAD SHX Text
%%US=1/6

AutoCAD SHX Text
%%U主柱胴縁取付部 

AutoCAD SHX Text
%%US=1/6

AutoCAD SHX Text
%%U主柱骨線取付部 

AutoCAD SHX Text
%%US=1/6

AutoCAD SHX Text
 9孔

AutoCAD SHX Text
M8X16

AutoCAD SHX Text
M8X105

AutoCAD SHX Text
胴縁取付金具

AutoCAD SHX Text
M8X60

AutoCAD SHX Text
%%U主柱 

AutoCAD SHX Text
%%US=1/3

AutoCAD SHX Text
%%U胴縁 

AutoCAD SHX Text
%%US=1/3

AutoCAD SHX Text
%%Uコーナー柱と胴縁取付部 

AutoCAD SHX Text
%%US=1/5

AutoCAD SHX Text
M8X60

AutoCAD SHX Text
 9

AutoCAD SHX Text
M8X16

AutoCAD SHX Text
9X12長孔

AutoCAD SHX Text
%%U金網取付部 

AutoCAD SHX Text
%%US=1/5

AutoCAD SHX Text
M8X30

AutoCAD SHX Text
縦骨線 6

AutoCAD SHX Text
%%U端柱断面図 

AutoCAD SHX Text
%%US=1/3

AutoCAD SHX Text
KAB-F13-150


	シートとビュー
	ﾚｲｱｳﾄ1


